Indices

Topic 5: Index laws: The zero index

Qusston 1 Simplify the following.

a (430 = b 8§x30=
d (850 = e (0=
g o= h 34p0=
i (pl= Kk (Qab)l =
QuestioN 2 Use your caleulator to verify the following.
a 90=1 b 730=1
d (230=1 e —(60=-1
g —SxX7t=-5 I -510-30_50=_3
j 2B X (=50 =2t k 6x40x(90=6
Question 3 Simplify the following.
a Sxpl= b (8a9) =
d 5x6a)P= e Oxdal=
g (a0 x7= h 160 +90=
i B+3¥= k(5220 + (310 =
Question 4 Simplify the following.
10
A SO+ = b ﬁ;} -
d 808P ¢ a-30=
28:0y4 = L 2ab%0 =
i Gx8r= k  (Sxp) =
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Gx12%=1
gx60=8
12+ 40 =12

0+ 300 =
150 +3=
-0l 12=

962t % AGETW =

(69" _
v

204" =
(8a%)0 =
14 % 70 =

Guesnon 8 - Simplify the following, leaving your answers in index form.

a 23x20=

d 100x13=
g 80xgl=

j P x#x30=

QuestioN 6 Simplify the following.

a G xel=
a 3a8 X 245b _
(aby® ~

g Olx ng;U =
3x

i X @0l =_

b

e
h
k

b

WP =
83 x gt =
59 x50 =
PR

9a250 _
305 T

5a? x (2032 _
2008 -

16m2npt =
Smrﬁ

2a2 x 3B _
@ab)®
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43X40=
56 x50 =
6760 =

(3P x30x-30=

Gy Xy
250 °

St eet-yl=

4p)2 x 2pg =
32 g

'
530 % (510 =
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Indices

Topic 6: Negative Indices

Queston ¥ Write the following with positive indices.

I

c
f

— e

a 23= b 2=
5] 576 =_ e 8—3 =
g xi4= h a?=
. t
i o =n3=_ k 54 =
QWESTON 2 Evaluate the following.
a 32= b 23=
d 53= e 105=
g (7= b @)=
- GEE
QuesttoN 3 Write the following with negative indices.
1_ A
@& g —————— b 357
- 4
d ;J:Z— = e 7
g 1= h 6=
y at
R 1
4 ST k Sm2
Queston & Simplify the following, giving your answers as fractions.
a 5_2 S b 6*3 =
d 32Tx2t= e Tx23=
g 53Ixs0= h 8XI102=
i 2¥x3ts kK 57+59%=
QuestoN 8 Find the value of x in the following,
a  10-3=10¢ b 103= ﬁl)?
d 53x57=5¢ e 107 =104 =100
g @X@I=@  n sersew
j &xei=6 kK B Pa
Queston 6 Simplify the following,
a Fx34x32ls b 28+32+23=
d @T=s__ 0 e MPXB+P=
g (72)73 =78 = h (47)-3 =
i @r2xd= N <) Lk (o L
x
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34 =

108 =
Gt =

@

57T +5%8 + 525
(63y2 % (625 % =
85 ¢ 83 + 810 =

X agt=
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Indices

Topic 7: Fractional indices

Queston 1 Express the following in reot form.

a 9= b 27¥ = c
d 16 = e 25t= f
'3 = h 8= i
I ¥= ko 49i= 1
QUESEON 2  Write the following in index form.
a 3= b = c
d 43 = e = f
g Vi L Y2H0= i
i Y= k Y73= 1
Queston 3 Simplify the following.
a \'ﬁ. = b JT = [
d VBI= [ %‘E: f
g 64 = hno oot i
j 8= Kk 643 = 1
QuestoN 4 Simplify the following.
a 16k = b 8i= c
d b= ¢ o0i=
g (129} o259 = i
j 2si= k 16i= 1
GuesTioN 8 Without using a caleulalor, evaluate the following.
a 361 X2X36 = b 8} xeiwasix 25i= ¢
_AL)% X (8Y . 1,
d (25 (27) = e (10) f
g 80 (8h¥= W o4Xgesix 2A= i
1 L
3 (g—‘l)’x(zi)’:_____ k asbxasirlsixgi=_ 1
5. 7
Quesnon 6  Simplify the following.
a  xixxd xuds b y%Xy% Xy%= c
d Sxix3x= [ p§)< p% Xp'§‘= f
g 8= o2yl xeyd= i
I (64al6) = k  (49a8b12)f = 1
Indices
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(9=

m%)( m% X m% =

-(.t%)% =
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